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1. Cartagena Protocol on Biosafety is a part of which of the following protocols ?

(A)

(B)

(©)

(D)

2.. Two statements

Montreal Protocol
Paris Agreement

Kyoto Protocol

Convention on Biological' Diversity

are given below. One is labelled as Assertion (A) and the other labelled as

Reason (R). Choose the correct code for your answer :

Assertion (A) : Lakes are considered to be more susceptible to pollution than rivers.

Reason (R):  Water in lakes may take decades to be replaced.

Codes:

(A) Both (A) and (R) are correct and (R) is the correct explariation of (A).

(B) Both(A) and (R) are correct, but (R) is not the éonject explanation of (A).

(C) (A) is correct, but (R) is not correct.

(D) (A) is not correct, but (R) is correct.
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3. Methane, a greenhouse gas, is emitted from
(1)  Landfills
(11)  Construction debris
(i11)  Wetlands
(iv)  E-waste
Choose the correct answer from the options given below :
(A) (), (i) and (iv)
B) (), (iii) and (v)

(C) () and (iii) only

(D) (1) and (iv) only

4. Match the following :
List-I List-IT
a. Histosols i.

b.  Andisols il

Soil order that includes soils formed on volcanic ash

Soil order of cold regions including soils underlain by permafrost

c.  Gelisols iii. Soil order consisting of soils of dry climates

d. Aridisols  iv. Soil order consisting of soils with a thick upper layer of organic matter
Codes:

(A) a-iv, b-i, c-ii, d-iii (B) a-ii, b-iv, c-i, d-iii

(C) a-i, b-ii, c-iii, d-iv (D) a-i, b-ii, c-iv, d-iii

5.  Which one of the following is not correctly matched ?

(A) Centre for Ecological Sciences

— Bengaluru
(B) Wildlife Institute of India A
(C) Indian Institute of Forest Management ~ Kolkata
(D) Govind Ballabh Pant Institute of Himalayan — Almora
Environment
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6. Which ancient centre of learning is often considered the World’s first university and was

located in present-day Bihar ? ]
(A) Nalanda (B)  Taxila
(C) Ujjain (D) Varanasi
7.  What is the primary focus of oriental learning programmes in India ?
(A) Emphasizing mainstream academic disciplines
(B) Preserving traditional arts and culture
(C)  Promoting interdisciplinary studies
(D) Incorporating modern technological advancements
8.  Which among the following cannot be stand-alone institutions of higher education ?
(A) Affiliated Colleges
(B) Business Schools
(C) - Nursing Schools
(D) Polytechnics
9.

A university that shares learning resources with different universities can be described as

) e
(A) Affiliating University

(B) Alpha University

(C) Meta University

’ : {
(D) Unified University

10. NAAC is a/an

(A) Recognizing body

>
(B) Accrediting body
(C) Affiliating body
(D)  Auditing body
Space for Rough Work / 2.8¢3) doxs :g.i | /iCEscas :
¥
GEN202300 (6 -D1 ) G
e — j—

G Scanned with OKEN Scanner


Admin
Stamp


p——— T R T R T S e KL TR ARl e, W e

DBe0ROT ?
(A) IYowe
(C) VA

D) ede3ds,

JASOTVBD

L NAAC omp @D

(A) RDHSDS o
(B) @@ s
(C)  eor Bo”

(D)  BzOAReGT

59,23ex 3OS
s B9 b 860@33; BBos Bpre OBATLIVWBD BORSKeIHZS D) RodI

(B) 3JUo

(D)  @ed@med

=0
7/ 2790300 & mrsé (&60&)0&30‘) 3Bl Soode3 Y DBB NI adrogycy ?

(A) BRI B Ze38 erornor 2@ AeRDBR
(B) mo@)@dbs 3 DR 505%301)3& ool AN
(C) ©o303ead @desoi)ﬁﬁvdg( B
D) S8RDIB 30033 SSabay, VYBRIZRRN D

/ & BVNIINIVY eI VI3 B36T 5o, SogadreNcereriad ?
(A) ©oriKoxy Faejeanrisd |
(B) DAIF zodnid
(C)  Rdfort Zadnwd

9 233 93, 9m3,300brid 0B B08ab Hose,onvR) Boukewys 98Ty A0abERy bert

(A) @oﬁﬁor-\—; agijaméwoi)
(B) 579, c:)%c:)mzsﬁ)o:b

(C) D3 ci’)z‘sjci)mase)oi)
(D) o333 3 IoRwab

2~
r\)Or\a)’

(e3Be30rY) BOF

GEN202300

/ '
space for Rough Work / WOt onE A

(7-D1)

C} Scanned with OKEN Scanner


Admin
Stamp


11. Identify the combination of three main aspects of pupil learning which are important for
effective teaching from the following and select the correct code :
(i)  Pupil attending to the learning experiences
(ii) Appropriate learning experiences
(iii) Teacher controlling the pupil
(iv) Pupil receptive to the learning experience
Codes :
(A) (1), (iii) and (iv) (B) (), (i1) and (iv)
(C) (1), (i1) and (iii) (D) (), (iii) and (iv)
12. Identify the institution which is directly respon31ble for the professional growth of teachers
in India.
(A) NAAC (B) TLC
(C) CSIR (D) EMMRC
13. Which of the following is not the characteristic of ‘Swayam Prabha’ ?
(A) Group of DTH channels (B) Quality learning resources
(C) 24 X 7 Accessibility (D) Not a platform for MOOC
14. Suppose a teacher performs a self-assessment in which he/she examines the pedagogy, 5
articulates reason and strength for strategies used in the classroom. Identify the method
referred here. - |
(A) Macroteaching ~ (B) Microteaching
(C) Internship in teaching (D) Reflective teaching
15. What is the major purpose of choice-bageq credit semester system in Higher education ? .
(A) To reduce the number of courses offered in each programme
(B) To provide flexibility in course selectmn and credit accumulatmn
(C) To standardize all courses across different universities
(D) To eliminate examinations and assessments
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16.

17.

18.

19.

20.

Which of the following statements best describes the positivism approach ?
(A) Positivism emphasizes the importance of subjective experiences.

(B) Positivism advocates for teacher-centered approach.

(C) Positivism emphasizes the use of qualitative research methods.

(D) Positivism seeks to uncover universal laws and objective truths.

In a research study investigating the effects of a new drug on blood pressure, which of the

following steps involves recruiting participants and collecting relevant information ?

(A) Data analysis (B) Hypothesis testing

(C) Literature review (D) Data collection

Which section of a thesis is typically responsible for outlining the research objectives
methodology and scope of the study ?

(A) Introduction
(C) Abstract

(B) Literature review

(D) Analysis

What is the main purpose of including references and citations in a research paper ?
(A)
(B)

To make the paper more visually appealing

To give credit to the work and ideas of other researchers

(C) To increase the word count of the paper

(D) To show the number of references used by the author

How does ICT enhance data analysis in research ?

(A) By d1sgourag1ng the use of visualizatjon tools for dafa interpretation

(B) By providing access to advanceq statistical software for automated analysis
(C) By requiring researchers to perform calculatlons manually

D

F ) By promoting the use of tradltlonal libraries for information retrleval
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Comprehension

Today, I, Rabindranath Tagore, complete eighty years of my life. As I look back on the

vast stretch of years that lie behind me and see in clear perspective the history of my early

development, I am struck by the change that has taken place, both in my own attitude and in
the psychology of my countrymen — a change that carries within it a cause of profound
tragedy.

Our direct contact with the larger world of men was linked up with the contemporary

history of the English people whom we came to know in those earlier days. It was mainly

through their mighty literature that we formed our ideas with regard to these newcomers to
our Indian shores. In those days the type of learning that was served out to us was neither
plentiful nor diverse, nor was the spirit of scientific enquiry very much in evidence. Thus,
their scope being strictly limited, the educated of those days had recourse to English language
and literature. Their days and nights were eloquent with the stately declamations of Burke,
with Macaulay’s long-rolling sentences; discussions centered upon Shakespeare’s drama and
Byron’s poetry and above all, upon the large hearted liberalism of the nineteenth century
English politics. At the time though, tentative attempts were being made to gain our national
independence, at heart we had not lost faith in the generosity of the English race. This belief
was so firmly rooted in the sentiments of oﬁr leaders as to lead them to hope that the victor
would of his own grace pave the path of freedom for the vanquished. This belief Was based
upon the fact that England at the time provided a shelter to all those who had to flee =,

persecution in their own country. Political martyrs who had suffered for the honour of their
people were accorded unreserved welcome at the hands of the English.

I was impressed by this evidence of liberal humanity in the character of the English and
thus I was led to set them on the pedestal of my highest respect. This generosity in their
national character had not yet been vitiated by imperialist pride. About this time, as g S :
England, I had the opportunity of listening to the speeches of John Bright, both in and outside
Parliament. The large-hearted radical liberalism of those speeches, overflowing all Narro s

national l‘)ounds, .h'ad made so deep an impression on my mind that something of it linge,-
even today, even in these days of graceless disillusionment NG
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Comprehension
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Answer question nos. 21 to 25 with reference to comprehension.

21. What, according to the author, contributed to Indians forming ideas about the foreigners ?
(A) English rule (B) English literature

(C) Administrative system (D)  Economic development

22. What was lacking in the educational system of that time, according to the author ?

(A) Philosophical enquiry (B) Moral principles

(C) Diversity (D) Technological advancement

23. Why did Indian leaders believe that the English will give freedom to our country ?

(A) They ruled us for a long time.
(B)

They provided shelter to many political leaders from around the world.

(C) They wanted to go back.

(D) They ruled many parts of the world.

24. Which quality of the English impressed the author ?

(A) Imperialist attitude (B) National pride

(C) Cultural orientation (D) Liberal humanism

25. Why was the author influenced by the speeches of John Bright ?

(A)  Because his speeches were relevan; beyond national boundaries
(B)  Because his speeches were in flyent English
(C) Because he spoke about the welfare of the English people
(D)  Because he always supporteq the freedom of other countries
\
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(A)
(C)

RN R PLY Feess B) 0od eod Bad,

207, 38 Gy dnes D euoed 3nssmEg

B monr 6 B0 GeEnrivos Jeadd) OF BIBTIET ?

(A)
(B)
(C)
(D)
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SBond wad ar@uriue @30 BeANY F308, B33 WowdIBD

590 dWedadhd &)(j SQ&;gngd)q dedge 2e83eaddrt dedaey 5o B986 BT ?
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26. Match the following :

28.

29.

30.

: ‘ommunication is fi : each other
Dewey i, Com on is for learning from

a
b. - Aristotle ii. Oral communication is superior to written text

c. J. Krishnamurti iii. Shared experience is the greatest of human goods
d. Plato iv. Ethos, Pathos and Logos

Codes: :

(A)  a-iv, b, c-ii, d-iii (B) a-ii, b-iii, c-i, d-iv

(C)  a-iil, b-iv, e, d-ii . (D)  a-iii, b-iv, c-ii, d-i

Which of the following statement(s) on effective communication is correct ?

(1)  Communication is exchanging information.
(i) Communication is understanding the emotion and intention behind the information.
(A) Only () is correct

(B) Only (ii) is correct
(C) Neither (i) nor (ii) is correct

(D) Both (i) and (ii) are correct

Which type of communication promotes collaborative learning in a classroom ?
(A) Intrapersonal Communication (B)

Interpersonal Communication
(C) Group Communication

(D) Mass Communication

Which one of the following is a reading technique ?
(A) Skimmir}g : (B) Expds‘it‘ory
(C) Persuasive A ’ (D) Therapeutic

Two statements are given below. One is labelled

as Assertion (A) and th |
Reason (R). Choose the correct code for your answer : : Pt o

Assertion (A) : Barriers of communication g

reaching the receiver. PRIEe Trdles that effoct the message quality
Reason (R) : It may reduce the emotional distance during communiéation.
Codes:
(A)

Both (A) and (R) are correct, and (R) ig the correct explanation of (A).
(B) Both (A) and (R) are correct, but (R) is not

‘ . the correct explanation of
(C) (A)is correct, but (R) is incorrect. S

(D) (A) is incorrect, but (R) is correct,

s -\ y
pace for Rough Wori / W8 xR 1&‘"
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a. GR 1.

RoIBI) 30730 8aben

| L. 3
b. 0oL U OF Nod£3@ DT BG;3,08 VBAT
c. o ZFede . Bousat wvidsy dregs BV a’mmﬁd
d. SBecdoe 1v. TR, wagioes DR deertpess

BRETNY ¢

(A)  a-iv, b-i, c-ii, d-iii

(C) a-iii, b-iv, ¢, d-ij

20meB0 JBoSBIT BA ooz Be
(1) SToIBIPY) %3 ANV
(i1)

(B)  a-ii, b-iii, c-i, d-iv
(D) a-ii, b-iv, c-i, d-i
3(Mwd) I0NS ?

SOBTBIDY) RredSad) OB L33 @) QVZeBTT) WBERRZRR) ID.

(4) () 793 IO=AS B) (i) I3, "IN
€) () o8 (ii) SBabe) D) () D (ii) 203@e <O
287 airos Bedak Ro3BR BorBabe) Fs5e0 BOB0IRY, VeSS ?
Aa) I3 3NE SoSB (B) =818 SozmS
C) oy BosB D) D08 BB
. SRV ainam Lavs So3mhE?
(&)  &,,o0rF B oFBpded
€) DIFpORDS D) $33

)/ 0 BePBrivay B9t QBUINT. 2087, FETES (A) ot Jewrer FromimAg D) g 0B
5906 (R) ootd efeer SromderaNs. D, GVBTE,N TOTOE e esad,3ro8 :
G3TDT (A) : FoSBIB BIBAR weébwddén" 33 ajodeéd rbsaabeacﬁ e IOHo)

‘ e e9@eIBveNS.

H 8208 (R) : ) FoBBIB TDADBY WST3, 3 VBT, 38D BeBWRRD.
BReEFRW ; :

(4) (A =) (R) odd/a JOaeNS D) (R) (A) 3 30373 I35,

(B) (A) @ (R) oF&e I0aeNa, 5533 (R) (A) = 30aires BT,

(€) (A) =0, 533 (R) 3),.

D) () 3w, 63T (R) IOWNS.

Space for Rough Work / 2,883 #O:f% "'9.;@

(17-D1)

CX Scanned with OKEN Scanner


Admin
Stamp


1 in the series ?
31. Which of the following figure(s) does/do not belong

P ‘
§ N3
Q
. I 111 IV i

(A) TorlIll (B) IIonly

(C) IIandIV .‘ (D) IVonly

32. On the total amount received by X, 20% was spent on purchases and 5% of the remaining
on transportation. If he is left with ¥ 1,520, what is the initial amount ?

(A) < 1,800 (B) < 2,000

(C) < 2,500 . (D) < 2,800

33. Aman, Bimap and Chiman enter into a partnership by investing ¥ 36,000, T 44,000 and
T 28,000 respectively. Aman = the working partner and gets one-fourth of the profit for his
service and the remaining profit is divided amongst the three in the ratio of their

investments. What is the amount o

% 5.400? : oh'profit that Chiman gets, if Aman gets a net profit of

(A) T 2,100 (B) 1,200
(C) % 1,000 D) =1
,500
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& BVN 0793 ©OB(MW) BBesatre) menmes ey BO ?

P
R 0
I II 111 v

(A) Tegoe 111

D

B) II3n3

€ Iava IV © IVans

32, X e300 wed)y Re330, 20% 20eBROR DR GLPd 5% 0 IeBdeNd. eI B3O
¥ 1,520 609033, 38098 Sp3 o), ?

A) T 1,800 (B) T 2,000

(C) T 2,500 (D) ¥ 2,800

33. DR, DR D) 3D° g men T 36,000, T 44,000 D) T 28,000 BeB3 o3 Sweers
BVNTIBTIBT. D BSD BOR DB DOTITTNGT8 DR IT JeSrroN 39233 Joe), e
201 NS, SBAWST DR HVOT TS, IV BEBBRY ODZIBBY ST JorBZerAS.

- 2 [

OZon* T 5,400 Ig,Y LIS BBTY, YD SRS 9e3d B3 o) ?

(©) = 1,000 T LB
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4 ; 2 a9 men and 2 boys
34. Two men and three boys can complete a piece of work in 10 days, while 3 m leta il
. 0
can complete the same work in 8 days. In how many days can 2 men and 1 boy ¢
same work ?
A) 12 days (B) 10 days
(C) 12'5 days (D) 11-5 days
) i 1 lon
35. A hare takes 9 leaps in the same time as a dog takes 4. But the dog’s leap is 2 3 T HORg
while the hare’s is only 1 m. How many leaps will the dog have to take before catching the
hare, if the hare had a head start of 16 m ?
(A) 190 (B) 192
(C) 184 D) 179
36. In the following question, three statements are given followed by four conclusions. Read the
conclusions and then decide whether the given conclusions are logically true or not.
Statements :
All trees are hills.
Some hills are animals.
All animals are birds.
Conclusions :
I Some birds are hills.
II. Some-birds are trees.
III. Some animals are trees.
IV. No animal is tree.
(A) Only I follows
(B) Only I and III follow
(C) Only I and IV follow
(D)  Only either ITI or TV and I follow ~
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3/:,,/ 200D JRVY) 9 JL BAddng

> VI D Wzt gy, 1
S 2 BAND o

e BUTBY, FPRE VBemy 9 i
(A)
©)

e 803&’?\1& 8 BInwve)

12 HIAD
(B) 10 BInw0

D) 115 BINW

12-5 dIAW

190
184

@B)ES 192
D) 179

0 BRIV wod BUTIR), BeerFredzum. 3 HDHID
Bonrrie PBEED. 2 BDED D 1 B oz BIAYO

VDTG Tack 4 o BNIE. ST Tadbad BB eug 21 cve
sNg0 Fe0d VNI vy Begy 1 Qe Fpvy 16 3

03, HBANS Feren oy R, FO BRodeSesrh3s ?
(A) |
©)

o

e T DeOTRY By ForseriePAGT

}e./sgm DALY hech FedBrivey ANE 3030 Toey, Bectrarririval NS, dectrairivay

LOT T3 BT SesrorRR Badeamon e OBD VT 20T AFFO.
DEYSTH)

adros @eyedodwe STIE.
(A)  Bedde I @res, BOATNS
B)  Zezo I sva 111 ared) BOWRNS
©) ez I oy IV 03 Sjelonvriale]
D)  Beges 111 eogee IV @ 1 8OARAD

T e i NN
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\ nd circle shown below represent urban, hardworkin
sangle, square and ClI®
37. The trang

marked I - v g and eduCatEd
- , of the areas MaTKed &= VII represent the urban educapuy
espectively. Which one 0 cateq
p(\upl{‘ ltkpet .

-1 i d
who are not hardworking !

A 1I ’ B) I
© Iv (D) III

38. Answer the following questions on the basis of the information given below :
R P )

E
S
s

Q S

: he huge cashe"
Four security guards P, Q, R and S have been posted at the four corners of the hug

plantation farm as shown in the above figure.

ide
i ers and then one st
From the original position, P and R move diagonally to opposite corn

nt ?
. : ed at the mome
each in the clockwise direction. Which of the corners 18 unmann

(A)  South-West (B) South-East

(C) North-East (D) North-West

B

: : =
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I
I
iy
VI
Vo ey

A) 1 B 1
s D) 1M

S 9rt eens Srotedod 6ma0E dhed & i BB euB6R.

R P

E
v T

[

Q . S

DeO3 BBBO FoedIWT0B WyBSF rHoerod Beedd mowy, ARUMVY TOD BEF 220 P, Q,
R 33 S ex dadeedmwond.

Ao myRBod, P @d R Sritrabmd O Sedion wowepd @ o3 3daleocs
BB3masaCon BEFO BODBT. B BDADTY WS Froeiohed) BRRSSLITNG ?

@ S B) e

(©) srzow; A - (D) g
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39. What is the value of
1 R et
2-3 5-6 8-9
(A 8
B) 10
) 7
(D) 13
40. BEHAVIOR is related to IMPROPRIETY in the same way as WORD is related to
(A) USAGE
(B) MORALITY
(C) HONESTY
(D) MALAPROPISM
41. Study the table given below and answer the following questions :
2011-12 | 201213 | 2013-14 | 201415 | 2015 16
P Area 59 5-86 -5:96 5
§ Production 8-96 8:06 9-99 9.6
Yield 15184 1376 1676 1602
Units : Area is given in million hecfares (Mn. Ha)
Production is given in million tonneg (Mn. T) and
Yield is given in kg/hectare (kg/ha)
If the production of maize increases at 5 compound annual growth rate‘which- is s
as the growth rate between 2012 -13 and 2013 - 14, then what would be the a.m;z
(in kg/hectare) of the crop in 2015 - 16, area under cultivation remaining the same ? =
(A) 2276 (B) 2518
(C) 3124 (D) 2850
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39. What is the value of
Iy AR
2-8 5-6 1iguig
(A) 8
(B) 10
) 7
(D) 13
40. BEHAVIOR is related to IMPROPRIETY in the same way as WORD is related to
(A) USAGE
(B) MORALITY
(C) HONESTY
(D) MALAPROPISM
41. Study the table given below and answer the following questions :
2011-12 | 201213 | 201314 | 201415 | 2015 16 |
o Area 59 5-86 -5-96 5 “
'gu Production | 896 806 | 9.99 96 m
Yield 1518 1376 1676 1602 m
Units: Area is given in million hecfares (Mn. Ha)
Production is given in million tonneg (Mn. T) and
Yield is given in kg/hectare (kg/ha)
If the production of maize increases at a compound annual growth rate Which: is same
as the growth rate between 2012 _ 13 and 2013 — 14, then what would be the yield
(in kg/hectare) of the crop in 2015 - 16, area under cultivation remaining the same ?
(A) 2276 (B) 2518
(C) 3124 (D) 2850
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42. Study the following graph carefully

43.

and answer the question below :
C

T - & - Company X
100 4

90
80
70 4

—O= Company Y

60 -
50 -
40 -
30 - B C!
20 -
10 -
0 : : : . ; -

2007 2008 2009 2010 2011 2012

Years

Percent Profit

The expenditure of company Y in 2008 and 2009 is T 25 lakh and ¥ 30 lakh respectively.
What was the total income of company Y in 2008 and 2009 together ?

(A) % 86-3 lakh (B) =813lakh (C) T855lakh (D) < 83-4 lakh

A questmn is followed by information in three statements Study the question along with
the information given below and decide the 1nformat10n in ‘which of the statement(s) is

necessary and sufficient to answer the question. Choose your answer from the options
provided.

What is the two-digit number ?

i The number obtained by 1nterchangmg the di
gits of the number is
original number by 18. greater than the

ii.  The sum of the two digits of the number is 14
iii. The difference between the two digits of the number is 2

(A) Onlyiandii (B) iii and either i or ij
(D)

(C) ii and either i or iii

1 and either ii or iii
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g VAR r@a* O~ 22930B PN &rd chd) VRS BT 6v3D :

4 A | - - X 808

90 —0— Y B0BA
80
70 4
60
50
40 -
30 - b
20 -
10 -
0

BeBE 923

—
rd

2007 2008 2009 2010 2011 2012

DREMKD
2008 =@ 2009 dQ Y 3030dh 2vebe Z@eN T 25 08 DA T 30 ©g. 2008 =) 2009 00 Y
BoBDNAD WED, (Siaplon) cba’% ?

(A) T 86-3 038 (B) ¥ 81303 (C) < 85503 (D) < 83403

% 2o FF D Bwod Swed TePINYO @ob3obI QeBNG. BYR BT BredbSateodr
PP OTOLI BB DR BT LLSOTW WS TP VN, DD TTDBE DOWT)
ABEDD. wBNAT BoH,RPT ), LVSTSI, 8.
2VD-wodod Josd; e ?

i Tosgod ©o3nvd) VKT 2BURDVT Fews BRG Sosgdody Swew) Jos Aol 18 Bod
BeINDHST.

i  Doghod o ©wodNY B3 14 8NT.

iii.  Fos0d SOD 0BNY FBDIR FByID) 2 8N,

(A) 13D ii e, B) il D) i wF@e ii

(C) ii 3D i egeve iii D) iR ii wBDe iii
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44.

45.

46.

: : i la
A new express train has a capacity of 500 seats, of which 10% are in the Executive cf .is
and the rest are in the Chair car. During the journey, the train was booked to = e N
capacity. If the Executive class was booked to 96% of its capacity, then how many Chair car
seats were empty during that journey ?

(A) 87
B) 73
©) 72

(D) 85

Two quantities, one in column A and one in column B are given. Determine the relationship
between the two quantities.

Column A Column B
_1_1 10
0-9 +

9+1

9+

(A) The quantity in column A is greater than the quantity in column B.

(B) The quantity in column B is greater than the quantity inAcolumn A.

(C) Both the quantities are equal.

(D) The comparison cannot be determined from the given information.

Which one of the following organizations maintains the database related
: to al :
IP address of the Internet ? allocation of

(A) quld Wide Web Consortium (W3()

(B) Internet Engineering Task Force (IETF)

(C) Internet Corporation for Assigned Names and Numbers (ICANN )

(D) Internet Society (ISOC)

GEN202300
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TR OB B 3F o
%Od’ P O2DT By 500 xRy ORGSR, BB, ©BBY 10% saabedmaras SreEOS
DR) VITY) WBeof JoTFIOZ. '

DA Ieahde), T30, TS TR, 85% 1t sachdTer .
ST BB TR 95y i

CODHED 96% 8, 5odOIGT, & OB &) 23e0° 59T deenriad

220037NTY) ?
(A) 87
B) 173
C) 72
(D) 85

3}// SO A D) 0T B BY o0 B@nnnvay, Aduand. a0@ 3@rnne Smar o0

174

B0 '
SO A S’ B
9+ % ' 10
0-9 +

9+1
(8)  S0Tf A WOS Barn B 50RfRObE SEnns,os SmAdses.
B) svar B abds 3annd A SoROLE Bannoes suAdEs.
(C)  adde BEmeNYw ISTRoNS. |

{

(D) el So&ENOT BReOBaDRY Qd?@ﬁmmmbg.

4;6/99 BYNR BoFNve alreR)md 0EFFEFS IP IVom Bousr Bowmodds detseless O ABFHLRDBT ?
(A) Befr 3o S Bade eedrado (W3C)

(B) @oessees @0BdabBort e, gpease (IETF)
(C)  Rouee BoTPFOEER Fo0° Kealf, ©ow Sowsse (ICANN)

(D) @oueer KLl (ISOC)
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47. Match the following :

a. Internet i, Private Network

b. Intranet ii. Local Area N etwork

c. Extranet iii. Public Network

d. Ethernet iv. Virtual Private Network
Codes:

(A) a-ii, b-, c-v, d-ii
(B) a-iv, b-, c-i, d-iii
(C) a-ii, b-iv, c-ii, d-i

(D) a-iv, b-iii, c-i, d-ii

48. In which year was the EDUSAT, the first Indian Satellite built exclusively to serve
educational sector, launched ?

(A) 1984 (B) 1994

(C) 2004 (D) 2014

49. Match the following :

a. Physical classroom i. = Online/offline — Asynchronous

b.  Virtual classroom  ii.  Online and offline — Asynchronous

c. Hybrid classroom  iii. Online — Synchronous

d. Recorded video iv.  Offline — Synchronous

Codes :

(A) a-i, b-i, c-iv, d-iii (B) a-iv, b-iii, c-ii, d-i
(C) a-ii, b-i, c-ii, d-iv (D) a-iv, b-iii, c-i, d-ii
50. Which is an alternate term referring t, website domain name ?
(A) Uniform Resource Locator

(B) Unique Resource Locator
(C) Web Resource Identifier

(D) Web Resource Locator
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;% BUNSDNYRY BoB :

a. QOEIIEEI®

b.  @otIJesF

c. OB, Je3e
)

d. asﬁm‘

BRFNW ¢

il.

1ii.

1v.

(A) a-ii, b-i, c-v, d-ii

(B) a-iv, b, c-ii, d-iii

(C) a-ii, b-iv, c-ii, d-i

(D) a-iv, b-iii, e-i, d-ii

oRA Fersste

dpedes HBalre Sesee
TIBFRAE FEFTEE
Sebeges anrh SeFSe

48 33638 a3, Fesd SOTen BZe8zoN ADETT ST eddead evar B EDUSAT ),
T s 386 3u80dRTdi) ? |

(A) 1984

a. Ob8 3013
b. Sebeser I0RS
c. BT 30N

d. BzCc 83 delade

BREZ N ¢

(A) a-i, b-, c-iv, d-iii

(C) a-ii, b-i, c-iii, d-iv

@B 1994 . . (© 2004 (D) 2014
49, SUNSivRy oD : ¥ .

i oY /85S  — o3E0T
i, e DR BT — O-DEOB

i, B — Q0BT

iv. &850 — Q0BRII*

(B) a-iv, b-iii, c-ii, d-i

(D) a-iv, b-iii, c¢-i, d-ii

S0, Boen® BRORY, evLedada salrorab B@ PR ?

(A) adpessre DIeedft ehpdeeso’ (B)  alwdz* ddeextt edodecso

(C) Ber ddeese aci&zééoi)o‘

D) S Odees's dodee3os
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